


BAR HEIGHT STOOL D HARDWARE
INSTRUCTIONS A ID

T
4

3/8" x 3" Button Head Cap Screws
SCBH037C300188

I 1®~0O) ©
(U \\ J

Seat Assembly 2 (U 4 8
ACF-A0024 Leg Assembly 3/8" Hex Nufts 3/8" Flat Washer
ACF-A0025 NNYLO37CNUT188 WUSSO37WAS188
@<>|\\ | | I
4

#10 x 2.5 Flat Head Screw
DSSFO10C250188

< | [mb
Lower Foot Rest Assembly 4
ACF-A0028 5/16 x 3-1/8" Truss Lag Screw
038425

REQUIRED TOOLS
(NOT INCLUDED)
- POWER DRILL

-7/32 ALLEN WRENCH
- 9/16 WRENCH ToOLS. QERSUSERED 2/5
- #2 SQUARE DRIVE FOR ASSEMBLY



BAR HEIGHT STOOL STEP 2 PRE-MARKED

INSTRUCTIONS P  HOLE LOCATIONS
STEP 1
_g.:fh—- ] ;
\&_//
il I —
— U L T~

0:_____——@’—_0 0 \;I\!/@ \5\\4
N ®
\
Og@z Q\® iy @g

X ASSEMBLY 3/5



BAR HEIGHT STOOL

INSTRUCTIONS

LLLLLLL




REV# 1
3/27/2018

BAR HEIGHT STOOL

SPECIFICATIONS

CF1027

™
O
N
o 23.50 L
| |
- - I
q R . p
I
1 1 2.50
- i -
™~
— T
N
| o~ i
= = N = I
1 Ls . ! ° °
S Q
- 20.50 _ S %
[ I I |
1.50 i
- 18.31 _

CONSTRUCTION MATERIALS:
Recycled Plastic

HARDWARE:
ALL DIMENSIONS SHOWN IN INCHES

Stainless Steel



	PAGE 1
	Drawing View149

	PAGE 2
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View134
	Drawing View135
	Drawing View151

	PAGE 3
	Drawing View165
	Detail View  (1 : 5)
	Drawing View167
	Detail View  (1 : 5)

	PAGE 4
	Drawing View169
	Detail View  (1 : 4)

	SPECS
	Drawing View160
	Drawing View161
	Drawing View163
	Drawing View164


